Knowledge Organiser
Booklet Year 11 Term 2
Core

WE CARE

Our working memories can only store a limited amount of information, whereas our
long term memories can store limitless information. To learn successfully, we need to
store core knowledge into our long term memories, so we can retrieve it when we
need it.

For instance, if you are at work or in the shops and need to work out a 25% discount,
you can't memorise 25% of every number, so you need to be able to quickly recall
the method for calculating a percentage. Committing core knowledge to our long-
term memories is a life-hack. It makes thinking about difficult things easier.

Using a knowledge organiser with regular retrieval activities is a way for you to store
core knowledge & subject specific words, into your long term memory so it is there
when you need it.

Click here to be taken to the
knowledge organiser part of the
school website.



https://www.telfordlangleyschool.co.uk/page/?title=Knowledge+Organisers&pid=191
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Clicking on the subjects below will take you directly to the knowledge organisers for
each subject. These are to support learning that has taken place this past term. Use
these to help reinforce the key knowledge. Use some of the strategies explained in
the introduction to help you retain this important information.
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Make sure you have access to a computer at home (If
you don’t please make pastoral staff aware or email
langley.homelearning@taw.org.uk)

Download Microsoft Teams on both your phone and
computer. (If you don’t know how to do this please
ask a member of staff or do this in your next compu-

ting lesson)

Spend at least 2 hours a week using teams EVERY
WEEK. (Engagement in teams can be tracked and
monitored). You need to be accessing each of your
class teams and recapping on the previous learning or
completing additional tasks set by your class teacher.

If you have any issues with teams (e.g. login problems
or missing classes etc then please email lang-
ley.homelearning@taw.org.uk)

Teams is a tool to support ongoing learning and
should only be used for educational purposes.



STAGE2 STAGE1

STAGE 3

STAGE2 STAGE!

STAGE 3

LOOK, COVER, DEFINITIONS TO FLASHCARDS DUAL CODING
WRITE, CHECK KEY WORDS
Look at & study an Write down the key \;varitei/'(i’i}n"r\:\vj{::, Draw

area of your
knowledge organiser

Cover up your
knowledge organiser
and write everything

you remember

&}

Check. Correct
mistakes in green
and add anything

you missed. Repeat

words & definitions

@&\
X
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Cover up the
definitions. How
many can you
remember? Repeat.

Check. Correct
mistakes in green
pen. Which ones do
you find hard to

equations/quotes on
one side & answers
on the other

Include pictures or
diagrams if it helps.
Read through them.

ik

Test yourself and get
someone to test you.

pictures/diagrams/
cartoon strips

Labelyour

pictures/diagrams/
cartoonstrips

i

Explain out loud to
yourself or
family/friend what
your images show

.d— | remember? -
= XV @
SELF QUIZZING MINDMAPS PAIRED SPEAK, COVER,
RETRIEVAL WRITE, CHECK
Create a mindmap of Give a family Read out loud the

Use your knowledge
organiser to create
quiz questions.

Write down the
answers to your quiz

X

Keep self-quizzing
until you get all the
answers correct

XV

everything you can
remember from your
knowledge organiser

O

Check your
knowledge organiser
& use a green pen to

make any
corrections.

XV

Add additional
information to your
mindmap or make
connections to other
knowledge

member/friend the
knowledge organiser
to hold

Get them to test you
using the knowledge
organiser

Write down your
answers to their
questions

(Qal

information from the
knowledge organiser
several times.

Cover up your
knowledge organiser

and write everything
you remember

€
6>|
Check. Correct
mistakes in green

and add anything
you missed. Repear.

/
o
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Retrieval Placemat

Look at your knowledge organiser. Now cover it up and write down
Key vocabulary & definitons from memory:

First time: Look. Second time: Look. Third time: Look.
Cover. State 3 facts Cover. State 3 facts Cover. State 3 facts

Look at the knowledge organiser again. Now cover it up and
without looking, explain a concept or ideain your own words

Re-read your answer above. Look at the knowledge organiser
again. Now cover it up and improve on your previous explanation in
green pen.



Retrieval Relay

Look at your knowledge organiser. Now cover it up.

First time: Write down Second time; Look. Third time: Look.
everything you can Cover. Write down Cover. Write down
remember everything you can everything you can
remember remember

Write down everything here that you didn't remember:



Vocabulary focus 1

Look at your knowledge organiser. Select a key word and write it

here:
Write a definition of Write a sentence with Create a question
the key word in your the key word in it: where the key word is
own words - not the the answer:

same as the one on
the knowledge
organiser:

What other words are connected to this key word?

Draw a picture or diagram to help you remember this key word:



Vocabulary focus 2

Definition: Characteristics:

Key word:

Examples: Non-examples:



What should my knowledge
organiser homework look like?

Topic clear Homework activity written
Date and underlined
Stagels.oflhomew.ork Key words in a dlfferent Green pen
activity in margin colour or underlined aorreciiB s



What should my knowledge
organiser homework look like?

Homework activity written
and underlined
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Biology



| Threshold Concept

I I
| Reproduction can happen sexually and II - Sperm: male reproductive cell that |
| | asexually || contains genetic material |
me=m=sss=s=m======[ERE - Eqq female reproductive cell that |
Reproductive organs gidatdt | contains genetic material |
Female 2% | - Reproduction: the joining of sex I

f cells (a sperm and egg) to produce |
- TYRE of fspring |
| (ﬂ P - Fertilisation: the joihing of a male I
[ & N7 :,:*II ,L—.;;‘-—--; and female sex cell/genetic material :

- Develop: build upon given information
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II

o Tha head containg the genetic material for
fartilisation in a haploid nucleus (containing half
the normal number of chromosames)

s The dcresome in the head contains digestive
enzymas so that a sperm can penetrate an egg

s The mid—piace is packed with mitochondria te
releass energy needed to swim and fertilise the egg

o The tall enables the sperm to swim
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I Fertilisation
When the sperm and egg nuclei join, Thay
orma ZYGOTE

E

I
I
I
I
I
I
I
l 23 ﬂhlﬂl‘l’lﬂlﬂmﬁl
|
|
|
|
|

e Cantaing o lat of eytoplaam which has nutrients
for the growth ef tha sarly embryo

«Hapleld nuclays containe the ganetic matarial for
fartilization

#Cell membrdne changes af ter fertilisation by o
single sparm so 1hat no mara sperm can enter
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46 chromosomas 48 chromosomen
In 23 pairs in 23 pairs
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Threshold Concept
Living - Undertaking the seven

I
| i |
I Understand that living things interact ||  processes of living things I
| with the world around them I : Changes - structural, physiological and |
: || behavioural changes that allow species |
e e e e to compete I
I
|
I
I
I
|
I

| Different Habitat- An area where

an organism is at home =13y =]

: Animal - Living creature of one of

| seven domains

| Plant - Living tissue that is a producer
I

I

I

I

Energy - The flow through all
organisms and food chains
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| Food Chains/Webs - show the flow

lof energy
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Adaptations

Long thick eyelashes
Thlck fur

|

|

|

|

|

|

| & Hump
I rru ‘e Thin fur
|

I

|

|

Large stem

| & Large SAV Soog ot

Slit-like
nostrils
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Respiration and photosynthesis are

and animals with energy.

I
|
|
: chemical processes that provide plants
|
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- Respiration: Respiration is the body's way of producing
energy from the food we eat. It involves the breakdown of
glucose in the presence of oxygen into carbon dioxide and
water with the release of energy-generating molecules
called ATP.
- Photosynthesis: is achemical reaction that takes place
inthe chloroplasts of green plant cells, where light energy
is used to convert carbon dioxide and water into glucose
and oxygen,
- Energy: The ability to do work
= Limiting factors: Limiting factors affect the rate of a
reaction. A limiting factor is a condition, that when in
shortage, slows down the rate of a reaction.

Reaction: A chemical reaction is when
one or more substances change and
produce one or more new chemical ﬁ
substances,

GIUCOSE. + OXYGEN. —>|CARBON DIOKDE| + |wATER |
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FACTOR BEING INVESTIGATED
DISTANCE OF LAMP
CAN BE CHANGED (V)

[GLASS TANK
FILLED WITH =
WATER

THERMOMETER TO MONITOR
TEMPERATURE (CV)

INVERTED BOILING TUBEl

OXYGEN BUBBLES
_PRDDUCED AS
PHOTOSYNTHESIS
OCCURS DV}

[Wiﬁﬁ' ‘WITH SODIUM

HYDROGENCARBONATE
(NaHE,) (EV)

) —{*INVERTED FUNNEL
PHOTOSYNTHESISING
L | AQUATIC PLANT (©v)
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- Pathogens: A microorganism that causes [
disease e.g. bacteria, virus, protist, fungus. |

- Microorganism: Are so small they can only be |
seen using a microscope. |

- Virus: A disease causing agent about 1/100h =
of the size of a bacterial cell. Can only |
|

* I
I

" I
|

I

I

|
| |
| Pathogens are microorganisms {
: that cause disease |

|

————— — S | S | — — — — —

r- L] -
| Communicable and non-communicable I
| disease: |
| " Communicable, which can be transferred |
from one person to another, or from one l
organism fo another, eg in humans, these |
|
|
I
|
|
|

replicate within host body cell/

Bacteria: A single celled microorganism
without a true nucleus, some cause disease.
Fungi: A microorganism that can cause
disease, and that produces spores that can

I
|
|
|
|
I
I
|
|
I
|
|
|
I
| spread to other organisms.

|
I
|
| include measles, food poisoning and
| malaria
I
|
|
I

- Non-communicable, which
are not transferred between

Fighting against disease |

Haw white blood cells protect us from disease

(e bluas'} WWhita bload talls fmay bacteria

I | ﬁ‘_‘_‘ — I - ] Ingest pathegens
I \ | mathogen "
I i L White blaod eeils may
LW""'“W b o e, ) produce an tibadies
I al ) [l which blnd ta
i A pathagens
I pathogen
l | Whita blaad * White blood ealls may
I wdll |l i produs antitoxine
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I * ,* ) praduced by the
I o, * imleraba, '
* * + # Antl-tasing
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: - Antibiotics are
| substances that slow
| down or stop the growth
| of bacteria.
- Painkillers are chemicals

I
|
I
I
|
I
|
I
|
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\Vaccinations [ETGEEER] | | s

| Vaceines allow a dead or altered e

| form of the disease causing Sy :# ! | tabitition zane -~

| pathogen to be introduced into the [E]} Y it

| body, which contain a specific

| antigen,
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Chemistry



Threshold Concept | |Keywords

| | - Particles: The tiny things that all materials are

made from. The smallest unit of matter,

- Atom: Atoms are the building blocks of all matter.
| Everything is made of atoms - evenyourself. They

| | are the smallest particle of an element, which are far

| | too small to see.

| | - Selid: Have a fixed shape and cannot flow,

All matter is made of particles
e

States of matter:

|
I
I
|
|
I
|
|
|
|
l
lace, cannot be compressed (squashed), because :
|
|
|
|
|
|
|
|
|
|
|

I

|

|

I

|

| s . £ | | because their particles cannot move from place to

I s::l:ﬂ;"" of Vary ¢lous Close Far apart I I p

I orparicins [ i randonty : : their particles are close together and have no space

l -Mwm“;;:r'-——u Vibrate sround Mave around Mavae fuickly in [ I 1.0 mave IP'I‘I'D.

| particlas a fixed position onali other all diroctions I | = quu'd FIOW anhd Tuke The Shﬂpﬂ ﬂf their COH'I'(]MEI"

I ;::gm:f Low anerpy Groater enargy Highest anargy l I bBCGUSE .‘.henﬂ pC“"T'CIE-S can move ﬂI"OLInd EﬂCh OThe:l‘

| pryreee ® ® | | cannot be compressed, because their particles are

I © | I close together and have no space o move into

| o @ { : - Gas: Flow and completely fill their container,

______________________ | because their particles can move quickly in all

P Rl e e R e e = 1 | directions, can be compressed, because their

| Atoms and ¢ , |'| particles are far apart and have space to move into

I Elements = Compounds | oo |

| contain just E contain different = e e e e e e e

| one type of 1 types of atom I So|!!bi|i1¥: |

I atom. i bonded together. LS 5 el ot |

| Oxygen(0;) | Carbon dioxide (O,) Iy o S0llaR FIISaVE 11 |

I ! | | water fo make a solution. |

I - - V- o These solids are soluble. |

| w : ﬂ# ¢ S | | + A solution is made from a I

| e TR [Elpdgerl | solute (usually a solid) [

[ e e —— — — — — — 11 and asolvent (liquid). |

| Pure_substances: || * Some gases, such as :

| Pure substances are made from only or |1 oxygen and car'bcm' ——water '

one chemical element or one itz || dioxide, canalso dissolve |

Il inwater. "

| compound. R Bl e e I
I
I

| For example, salt is a pure substance IE —————————————————————————
| made only of sodium chloride. Required practical Chromu'l‘ggr_qphx

P T R T e e R ! CRMAIOGRPIY PRPR

| The pH scale: I I "

P > @
2 .

m Hydrochloric n Stamach n I.nlmnn E_Q'I Vinegar
acid Juica

achd (HC)

© ../ u &

4 Tomalo § Banana 6 Mk . Purewater

|

I

I

|

|

|

I
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|
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|

|
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Sanps m Amianla m Bleach m Graln m Sadlum

cleaner hydiosida
{HaOH)

I!! nnn! !E!lg

Aclds Mautral
Inereasingly acldic Incunh gl,- ll:tlln

solutlan

R value =

I
I
|
distance travelled by substance (B) |
: I
distance travelled by solvent (A) |

I
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| Threshold Concept

| Allelements fit within the
[_ Periodic Table
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1" Link to information on |
I most of the topic,

| consisting of slides,

L videos, and quizzes

| Periodic Table & Developing the
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|| Keywords

I
|| Elements - a substance that cannot be broken down
| | into any other substance.

7| Periodic Table - a table showing every element that
|| is known to exist.
| Symbol - a sign/letter/character that is used to

: I represent something

Periodic Table

Mendeleev redesigned Newlands
periodictableby organisingthe
periodictable by atomic weights
andthe properties of the elements.
Some gaps were left based on his
predictions of other elements that
hadn’t been discovered yet,

As more elements were found, the
madern periodic tabletook from
organised by atomlc number,

— T e e — — —

£ ® \
=t (&)
i f‘ gm
L 2

Subatomie particle Relativa mass
Protan

1

Hautron

Vary small

All share similar properties:
Are soft (can be cut)

L

Li * Haverelatively low MP
+ Have low densities
Na The further down the group
you go, the more reactive the
K elements become.
+  They will react will air and
Rb tarnish quite quickly.
+  They will react with water
to produce an alkaline
Cs solution (hence the name)
and turn universal indicator
Fr blue/purple
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T T O O ot i 7 T

'-r- I I |D I Atams of the same alement must have the same number of

I I l proions, but they con have different numbers of neutrons.

| I I Atoms of the some element with different numbars of neutrons
Ay I l Exan'[ple,' | are called [sotopes. Isotopes of on element hove:

I I USing an ' = the zame atemlc pumbar

I I atom Of I # different moss numbers

Il No. of electrons sodium | Elocron shet

Il per shell e - . ¢

II 15" shell: up to 2 T I @ @ #

|| 2dshell: up 1o 8 (.j |

rd : ;
[ 3 shell: up fo 8 3 | Hydrogon-1 Hydrogen-2, Hydrogan-3,
| ete " | i A 1 auterium tritlum
l b : I
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Group nuimban
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All have 7 electrons in outer
shell,
All diatomic (made up of two

All have full outer shells.
All unreactive (inert).

W 'F

f AT TR Teen Al have low boiling points.
| €L The further down the group Lower down the group,

! you go, the less reactive the the higher it gets.

ll Br elements become, This is because, going

l: The further f:fown Tha group down the group:

il ] E‘E’U g:, Tuhse .hlgher‘ its MP and +  Afomms become lar\gerﬂ
I ; 'Malcgcuﬁés basome: Taraee + Intermolecular forces
{l At * Intermolecular forces between atoms becorne
I! become stronger SITOgRl :

| *+  More energy is needed to * More energy is needed
| T8 overcome these forces to overcome these

forces
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| Threshold Concept

I
L
I
| Identify most metals have similar |
I properties H
| ¥

Metal...... DEFINITION

Non metal ...... DEFINITION

Property ......a characteristic of a particular
substance

Reaction ...... a process that leads to the change
of ohe set of chemical substancesinto another
Alloy ...... a mixture of two or more metals, or a
metal and a non-metal

Displacement ....... A more reactive metal will
displace a less reactive metal fromits
compound.
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| Metals and non metals

|

I Most elements on the

| periodic table are metals.

| They are grouped together R
I in the middle to the left- _ . . ...

I hand side of the periodic |

| 'I'ﬂbIE.

|

|

I

r
Non metals are on the |Metals and alloys

I
| Makingalloys changes the metals properties

T Tt | by changing its structure, Alloying is done
for many reasons, typically to increase
strength, increase corrosion resistance, or

right-hand side.
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Physical properties of metals !

|

I

|

I

| I

i ! '

| I

I Piopoitles Marals Hommatals I I r'e.duce COS*S I
I

I i 2 ) | | pure metals are malleable j |

Hardnegs Wory hird r hatd Bilttle I I P i (T . L] E I

I Iiallaabiliy Malleable Hon-malleablo I I R n I

I Ductity Duclila Nan-ductile | | — I

I Hasl canduction Gaod eonduclor Bid candueiar I l }

I Conduction of slactrcity Gand conductor Bad canduclar I-:' ] " I IEE:‘IB are more brittle g ..' |

I Slale Balld | ﬁt ,m\ & - I

| Dansity Highar ol - . I '

I | e I

________________________ I

________________________ 1
eme eacrTi

3 ' . What did you see?

@O O

The Reactivity Series
lists metals in order

I

I

I

I

|

I '
I " how easily they react |
I gliie In
I

I

I

|

I

I

potaislim modt reactive K
sadium Mo
ealelim €a

magneslum

aluminlum
i n  with other subsmnces I : i i ; :
IvII: :: I I
o | | Metal +acid > salt + hydrogen j
s Y | | Metal + oxygen > Metal oxide |
platinum, Toastrestive 1 | : Metal + water > Metal hydroxide + hydrogen I
Ty i e o



__RockCycle i
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.Threshold Concept

!
| Understand that rocks change

L within 3 types over time.

| Types of rocks
ISedimenTary rocks

| Sedimentary rocks are formed from

| sediments that have settled at the

I bottom of a lake, sea or ocean, and have
| been compressed over millions of years.

- Rock: The solid mineral material forming
part of the surface of the earth and other
similar planets, exposed on the surface or
underlying the sail.

- Earth: The planet on which we live; the
world.

- Cycle: Move inor follow a regularly
repeated sequence of events.

- Temperature: The degree or intensity of
heat present ina substance or object.

|
I
I
|
I
I
I
I
|
I i I
| Metamorphic rocks I
I Metamorphic rocks are formed from I
| other rocks which change |
I due to heat or pressure. : - Pressure: Continuous physical force

| | exerted on or against an object by something

| I in contact with it.
Igneous rocks are formed from molten I _________________________ |
(liquid) rock that has cooled and 1R =T g

solidified. The rock cycle

[

|

| Rocks on earth do not always
: stay the same.
I

|

|

|

Waatharing
and Brosion
Extrusiva
ignaous
rock PN
¥ Ay o
| | 1 -~ Blow uplif
lo surface

% Transporiation
5, and doposition

| Types of weathering

}H

| 1. Biological weathering

! This describes rocks being broken up by
| the roots of plants, or animals burrowing
l into them.

Sadimantation

IZ. Chemical weathering

| This describes rocks being broken up

| because substances in rainwater, rivers

| and seawater or the air, react with the in
:’rhe rocks.

I 3. Physical weathering

Rocks are continually changing due to
processes such as, weathering,

erosion and large earth movements. The
rocks are gradually recycled over millions
of years, changing between the different

: : . rock es.
| This describes rocks being broken up by fyp
I changes in femperature, freezing and b
| thawing of trapped water or the action of | | : | 1
i WGVE-S ﬂnd I"IVE-I“S. “:fIII:ﬁII:'i‘P Wales fraarea wed 'qﬁiﬁ‘%‘s{\:‘?" Fr:ltl!lzlioum:!r l_ ________________________
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a-'l =
B3
&
s
—
bl



e e e e G oty e e it i e i et e S I

e e e e e e e e e L L R e 1

| Threshold Concept | Keywords

| The Earth's atmosphere is made of I - Atmosphere: An atmosphere is the layers

| different gases. I of gases surrounding a planet.

I_ _____________________ 11 - Pollutants: A pollutant is a chemical. or
biological substance which harms water, air,

or land quality.
- Climate change: Climate change refers to

I

I

I

|

I

I

I

ases i :
long-term shifts in temperatures and I
|

I

I

I

|

|

I

I

I

r

IThe Proportion o
|earths atmosphere

the :
- |
|

weather patterns,

- Combustion: Combustion is another name
for burning. In a combustion reaction, fuel
is burned and reacts with oxygen to release

HITROGIY T8/

|
|
I
|
[
[ CARBON DI O 04/ I
|
I
|

TREON 0 47 [l
LG5 006 || Ehergy. , o
. I| - Global Warming: Global warming is the
WA :I long-ferm warming of the planet's overall
e e s R e ik : temperature. |
o e e e b T B . e s it s s e e e
History of the earths | F=======================s
atmosphere ee e gases
“The proportion of oxygen increased Greenhouse gases present in the atmosphere
because of photosynthesis by plants and include:

algae.

*The proportion of ammonia decreased as it
reacted with the newly formed oxygen in
the atmosphere to formnitrogen and water

The Greenhouse Effect

* water vapour

|
|
I
I
I
|
|
I
I
|
|
*The proportion of methane decreased as it :
I
I
I
I
I
|
I
I
I
|

| carbon + water

reacted with the newly formed oxygen to I_. methane
form carbon dioxide and water, T e
lfn‘r::m aarly I'||r|DlF|l:':0 - Forih's almosphore m:‘:‘m’ﬂ I R i e c ic I TESTing fﬂr gﬂSEs :
il [ i, [ sdee | |

i P i ammaoila -
il : /{_].m.!.uﬂ!!lm_':.ﬁ.‘.ﬂ.h 0 \/ mowoww o N/ isesmwes w \ |
-:."EE:" I Corbon diokide 2::”::_,”:“"“ Hydregen wh’ﬂ . I
o ] it | somesen” o | |
: ‘T I Limewater \U hl" / plint : I
Avorgn surfara Aversgo sarfac Nelgasefeabinrtost] *.'* " d‘ P 4 |
temparatiea Abs 400°C tompormium 20°C | PRI s A 1 Vi |
r:::::::::::::::::::::_ I (eloudg/milky ) ""':-:,_ ,-.; |
| Combustion I =B T A @
: COI‘TIPIBIE combustion: | TestferWatee O /;aun:.omm o \ /— G1.6as Tests \ I
fi ; l Water turng eabalt Quygen relights o : ;
I Prﬂpﬂﬂe + oXygen — carbon dioxide + water | | chloride poperfrom A " phasiing splint o o o, I
bfue o iy ¥ il it
} C3Hg + 50, — 3CO; + 4H,0 o | e I |
| Incomplete combustion: : A & b Slgbes i Los gt I |
I & Eaguily phliesti ﬁ on tha firal asam. Try fo learn ]
| Propane + oxygen — carbon monoxide + I e I\ A |
|
I

| |
' I

| €3Hg + 30, — 2€0 + € + 4H,0
:

e el e B I ——



L Sadium chlorlde (NnCl)

S S . . O N,

: Threshold Concept , Rggﬁg,.ag """""""""""""""
|

{ How dO'IO(E} elemem.:s make up | Electron -asubatomic particle with a negative

| everythingin the universe? Il charge

T ——— ———— — — — — — —— — — — —

|

|

|

|

|

| Electrostatic attraction - strong attraction
: between oppositely charged ions
I

[

|

|

|

|

Anion is an charged particle. Weak intermolecular forces - force of attraction
Atoms will lose or gain electrons to get a full
outer shell.

The metal atom loses electrons to become a
positive ion lon - a charged particle

=l

i

|

|

|

: between atoms, elements and molecules
|
|
|

The non-metal atom gains electrons to become : L-

|
|
|
|
I
|
|
|
|
|
I
|
|
|

Delocalised electron - free moving electron that
isn’ta part of any atom

a negative ion.

Tranafer of
slectron

lonic bonds are formed between metals and
non-metals. Metals lose electrons and non-
metals gain electrons. The oppositely

m. )}b r‘(\ mn)

m.u.u':?mm cn-mi-fimm charged ions attract one another forming an
g AR - J ionic bond.
() (@) =
S ks Use task 3 5 i

Ho* cI-
lE‘:lctlum lan  Chiarlda ll:lll'

SR L S R G T S A P gy T g S .

Tonic compounds and properties

Positive and negative ions
join together to forma Wit

giant ionic lattice £ 52000 20 N sl
& History of the atom

JI Thomson - Suggested

the plum pudding model. &we
Atoms were a ball of

positive charge with i
negative particles

scattered within.

electrostatic attraction
is strong

N7

lonic compounds have a
high M.P

N\

Lots of energy needed
to overcome attraction

Ernest Rutherford —Alpha &
scattering experiment.
Found that atoms has a

lonic compounds don’t conduct when H very small, positive [
solid because the ions are locked in || nucleus and the majority

position. When molten or dissolved the !! of atoms are empty
ions are free to move and can conduct (I space.

e o e e e e e e e e e e e e e e e e e e e e T e e e e e e e e e T e e e e e e e e e e T — —




: Bonding Part 2

e e m — — — — — S — — — — —

S D OO . O L |
R e g T T ey R T LSS S S S S |
| Threshold Concept | [Keywords
| How do 100 elements make up I Electron -a subatomic particle with a negative
} everything in the universe? || charge

1

Electrostaticattraction -strong attraction

| I
| I
I I
| I
| :
Covalent bonds : between oppositely charged ions |
| I
| l
[ I
[ I
| I
| I

: Weak intermolecular forces - force of attraction
Two non-metals will form a covalent

between atoms, elements and molecules
bond. The atoms share electrons to make

Delocalised electron -free moving electron that

|
l I
| |
I I
| |
: themselves stable. P I isn’ta part of any atom
g T lon — a charged particle
l Cl —cl 3\ cl @ cl /} I I.lr_—_'—_—_—_—_—_—_—_—_—_—_—_—_'—_—_—_—_—_—_—_—_—_—_—_'II
| — . ¥ Simple Covalent compounds |
| ‘ ee xx |1 Simple covalent compounds have strong |
| = 1 sharedpair ( . ; || I
el | ob o ) || covalentbonds between atoms and weak |
: bond el ux : : intermolecular forces between molecules. :
: * 2shared pairs 0= : | Properties — low m.p and b.p |
I = a double I : - cannot conduct electricity l
I bond . | @ B S |
| * 3shared pairs I (0) -t i
: = a triple I | @ g '
| bond o s '

s e G | S S S S G G | S S S S — —

e e e e R e R e s e = R e e B S S
| Metallic bonding

H Metals consist of a giant metallic structure.
Il They are positive metal ions surrounded

Diamond Graphite  Silicon dioxide

S | .
o Bt % h by a sea of delocalised electrons
"‘ Jl¢ i II vwe wlocivons fiom oulo
Do || ahulli of matal stuins

| : Alloys are stronger than metals as the
different sized atoms distort the layers

[LLEMENT %5 AELEMENT v'j
i i

P TRy Sy

|
|
|

I
l
y
¥
l
|
y
y
L

II._.._.._.._.__.....___...._....._......__._....._..__._._._.._.]
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| To understand that total mass of reactants equals total

| Conservation - the mass of the

| Threshold Concept I
!
|

mass of products

I
| |
I I
| I
v o e et | | reactants must equal the mass of the 1
| RFM 'H products in a chemical reaction {
I — e RAM is atomic mass ofan || Formula mass - the combined mass I
LI a2l aiome number  element H humbers of an element or compound l
FAFRRAT Bf proterss 144 v 2 [
| MD"‘  wemiosymbor  RFM s the combinationofall | COI‘ICEH‘I‘I’OTIQH the 9rr\ounf Df |
| bl atome masa | El€MENts Ar ina compound || substance dissolved in a solution I
I 35 Dl = A le an ausiags massr p MD!ECUIE |I EquﬂTion = Symbﬂl r‘e.pr‘gseﬂ‘h:lﬂun of C[ I
: Waork example 'He i H chemical reaction :
| |Helium (He) Ar=4 | ‘. || & || Loss - the process of losing something
| |Eibanaionie = oty T || Gain - the process of gaining |
| |Carbon (C) = 12 Oxygen (0) = 1 Il somethin |
| \Mrof co, =12 + (16x 2) = 44 1 g |
I_'_—.__."= ___________ B T S s SRR RS R R l
Rl Bty o il i Syl il eyl o el e o maeyripasaee ksl i e e T
| Balancing Equations | | Conservation of Mass I
| I .
| As the same number of elements are at the [ % 8 % :
: start and the end of reactions. The Equation : : + @/ % {
| needs to be balanced. [ Fogptimncs Jprsnict |
: || The reactants mass must always equal the mass |
I Mg + 0, —> MgO (Unbalanced) : I of the products :
| +0,—>2 |
| ZMg + 0, MgO (Balanced) I : I 2 5 4 :
I [
I W We can not destroy atoms. I
L s e st e e e e e i o) ko e s S e e S B U e J
AT L | ——— :q"”—_______*u'rPercem‘age by mass |
Moles || Concentration | s
1 The amount of an element in a
Chemical amounts are measured || Concentration is the compound is called its percentage
in moles, One mole of a Il amount of substance in composition. It can be calculated
substance contains 6.02x1022 “ a certain volume of using the mass of the given element

in the compound and the RFM of the
Compound.

solution (g/dm3)

Faginila id
lriti L it Hamli raid

Mass of solute
Mass % =———X 100%
Mass of solution

|
|
|
|
|
|
} particles (Avagadro’s number)
|
I
|
l
I

== = == I
_______________________________ I . .....L.ici. A,
I__'_':_ ____________________________ a
Bgﬂg;!ng masses

The mass of a product or reactant can be determined from having a balanced
symbol equation. Once balanced, the equation tells you how many males of
each substance react with each other : Mg + 2HC —> MgCl, + H, (Balanced)

5
I

I

| The reactant that gets used I
: up first in a reaction is called |
| the limiting reactant. This :
I

I

I

I

I

I

I

I

I

I

I

I

I

reactant is not in EXCESS This equation states that: 1 : Mg 2 : HCl toform 1:MgCl, 1 : H, :
I
I
I
I
I
I




| Threshold Concept l
|

How do we identify a substance? Pure —a substance made from just one element
L

of compound

Chromatography is a method used to separate

| |
l |
| |
l |
T T T T T T T T T T T T T T Impure —a substance made from more than one |
: Pure and i re /' . \ : { ele':nent or compound I
| %3 ; , - |
b pure cibictances ais rads up of just \\T' ‘ 3 l | Analyse - to find the chemical composition of a |
I one type of element or compound. Lo & | { substance |
| They will have one set melting or y En || Sample—a portion of a substance taken from a :
: bailing point. R l : larger amount I
| Impure substances are a mixture of l _r::::::::::::::::::::::::1
I n 3 & - e
I elements or c_ompoqus an_d have a || Chtoma‘i‘ogmphv I"EQQII"Ed pl"ﬂC"’lCﬂl
| range of melting/boiling points. 5 | .
I v |
| e |

the substances in a mixtures.

Formulations
A formulation is a mixture which
has been designed as a useful

| |
| |
: | wmmcfw PR smw'w fhoNI
| |
| product. |
| |
| |
| |
| |
|
|
|
I

P

bl
A

R

13 ey

* Fuels
* Cleaning products

e 0.4
* Paints -

b1 e

ol [ 8=

sl PN URE

e e e | Stationaryphase —where the molecules can't
move (chromatography paper)

Mobile phase — where the molecules can move

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
" oy, U ) |
|
|
|
|
|
|
|
|
|
|
|
|
|

BAINT 1

distance moved by substance
distance moved by solvent

Analyte (A)
D T

] I-ﬂn_i Analyte (B)

“FCHLORINE GAS

dh 3 Sample (A+0)

[wire |

|
|
|
|
|
|
|
|
I
|
- Solvent front |
|
|
I
|
I
|
|
|
|
|



An instrumental technique

— e — S S S S S S S S e M e s

e e e e — e — — — — — —— — — — —

__,_,__,_"H_,,_,,_,,_,__,_,,____________

Add a few drops of silver nitrate
Chloride forms a white precipitate
 Bromide forms a cream precipitate

—————————————————————— -II-_________________--_____1
| Threshold Concept H eywords |
| How do we identify a substance? |l Pure - a substance made from just one |
I— ————————————————————— -I element of compound |
| R g g g R |1 Impure - a substance made from more |
| l Testing for metal ions = |
| | than one element or compound . |
I :Meml ions will form coloured precipitates I : Analyse - to find the chemical composition |
|when they react with sodium hydroxide. || of a substance I
I | | | Sample - a portion of a substance taken |
: Aluminium (A White precipitate, dissolves in ox‘cw; I :::::::—_:—_::—_—_::—_—_-—_::::-—_:1
| | NaOH to form a calourlass solution : I Idgn.nfy'"g ions PEQU"‘EC‘ pl“ﬂC'I'ICQ_I :
| | Magnesium (Mg**) White precipitate, incoluble so I Testing for positive
[ ramading in excess NaOH N ::I"I?"ll clra:rﬁ::u | |
I viith sodium o Wi e I
| Caleium (Ca®") White prae.IpItuti; I:gﬁluhla B0 |I i hydroxide) !' |
remains In excess NaOr ! |
| |1 Fer IR a
I : Copper (1) (Cu®) :.Iqht blue precipitate, ingoluble |1 W S |4 -m-m;;f;-n ~=-| " I -t M I
n EXCess | | ot ca |
r ’
| | Iron (i) (Fa™) Green precipitate, insoluble in excess I I I I“’I _'__‘_,_,__| ) [ lwtﬂ_w ; :
: Iron (11 (Fa®*) Red—brown precipitate, Insolubln I b | o I ‘I, L_I”""”"'I i (el |
I in excoss : : ] |
h.*t!"::'l‘:. o b il .llﬂlIl Clllllll I
| | I I o | xp.:l:rl-‘l"::li-‘\\'m*‘l"-nl ) =+ T | e | I
sl bl by i Yol I I
I I e |
| e l e
- | ks i LA |
| Teshng for carbonate ions CO* || |
| K,CO,+2HCl > 2KCI+CO,#H,0 | | .
R -4 |
l ol II I:\A?;,? Iccpﬁgg?gg G‘;ﬂ“d : I I. Tosting for negotivelone | |
| 0 I I = ] ¢ =
| [ 'I il = Forms Carbon dioxide I AT : :33‘{;’;{%3:::;‘ N:m;-:;‘ |
] .|+ Turnslime water EZDE | , =— |
L = E = I cloudy : : I"T» ] I'*elm-l o [..‘3:.'..'(.".] [_.T:IIII:“] I:‘E'MIE,':: [..II‘,L..] I
| el et ey e ot Tl R IS, g iy L | rmengmass [ fM sid
| Testing for Sulphate ions 5 [F"'I'?'"’ .._] [_ o ) i |
AN s (e ) |
| 4 BEIZ*+ SD4Z'$ BEISO,; a :
| '
||« Addbariun chloride BB~ — ===~ —~-———=------mommmo
I e * }Nhu'redpr'ecrplm‘re cl- Br- T- |
& arme
| [ I
|
|
|
| ‘ - — Agt+Cl'->AgCl |
WHITE CHEAM YELLOW
| it I I‘."I!-“‘”.""”\TE_I II.'I"EA.‘:”I‘I""N'I"_I :
- Add nitric acid |
I
I
I
A

used to identify metal ions.

Iodide forms a yellow precipitate
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Threshold Concept- Year 10- Language- Reading:

TC1 -Understanding texts: identifying explicit and implicit information; selecting accurate and
pracise quotations.

TC2 - Demonstrate and appreciation of the writer's craft through analysis and critically
evdluative comments.

1C4 = Evaluate writer's craft including comparison skills.

Showing your understanding of texts- use PEEZL to structure your unswers.[ Camponent 1, Qugstion 2 response: 5/5 marks,

Ther wribosr ertalis Ho itpréfifion. ok, thave: 15

POII"IT-mphruse key words from question to star el i W e AN 8 e

your answer. Mentlon . . Far rpls Hoo wriker dpcpidis fow Edbie.
v techniques b w4 el b nerans fer bt f]kﬂ\E‘:‘.&s & 2 el U E s
Evidence- introduce quotation(s), " wickoot, ik for by T fak ot Emons

painfied, haos ernmﬂ alblide. for ladrg shy omphasies .

Explanation- explain what quomfﬁ;;s shows. | o’ *t“:i s ;;f": e e R i

; The wiker resker Mo mpregsion, fhal:
Z00m-~ pick a single word choice made by the | s o1 M,L,J\ML bbb mﬁf"ﬁ‘ ol peale..
writer and explain what it implies. OINARL. Bollites 15 Huvtatey yonrs” Adie Hwas for * and

aikt v . Grmes 13 imgrgqiond®le, ard elrghll
mmc.dﬁ :-f badinres* ke :jas oty aandap, -.uly
bt wen” ad o randh af bt jut,ém{,; plbibida, |
Ths frpréioy g reidnedad, whon He Yor'

Link to reader - mention how reader may
react and why.

You should use this info

to get the base knowledge needed to
confidently answer the dilterent types of
question on component 1 and 2.

i (,vp.bv,.‘ms
hinay e s ek, Vg et {,rﬂ:.'-ﬂ-j Mo jaed, {:M..
Cpnnd, Fiwds ,i?mr'{;f Froves Rdhbin, 7 . fk,-sl s dpdd

le dighunls padsets g Hotr relakiondsp gade Suggeds
ik manq pole b at sl or .l¢..:nﬂ 4 vh belsesrds,

Fraquent, short quatations weaved inta
your answers and axplalned will maka
 vour work evan mora succassfull

Expressing higher order ideas in explanations (for analysis/evaluation). Use this te fransform vour responses

/ The quotation: “as sirang as

Text = what is directly written in a plece of

" s thail the
Literature, a bull” reflects tha

man s like o slrong cow. X | &}

Whal happens.

(Don't include In your explanations- you'll just
be repeating yourself/ retelling the atary)

Io this...

Connatations af i —
) The quotation "as shrong s a bull

shaws that the man In quasllenls a

implied emotions powerful physical specimen, 1l meay
of eharactars, alse rellect Ihe man |s menlally
tough, pathaps even slubborn. The

Alternative noun "bull” might reflect the
interpretations. wilter's intenfion 1o show hal the
man Is aggrassive, perhaps
i..
Witer's fareshadowing harm he does lo
intentians. others later In the slory, v

Subtext = the meanings beneath the surface
of what {3 written

Thess are the thing that show yeu are
thinking daeply about the writer's cholces

Identifying language and structural features. { Comparing successfully- using comparative
connectives.
Road lines 7-18. = -
What Impreesions da tha wiler cropta of Emma and Robbig inthose lnes? 8] - lw,d,,,_,,,,m, w semgbrlidn w“‘"m“m. S
You mudl ralar (o Whe langopge used in the fext do support your answer, using relevant <A howavar
subfect ferminelogy where appropriale, A Alhiigh
Whenever you see the highlighted words, fry to identify and o S
_mention the writer's technique choices in your essays. Kbl o
Common language fechniques | Cemmon structural features Mk bareod
g4 3 343 ; Uidring : 3 v Wilika
Fik : & b
Simile Lists vy ke
Metaphor Repetition of words Sarta bath o tha other hard
Personification Lexical (word) patterning include: T aaas
Adjective Repelition of a technique “less” r:m":;"n
Adverk Tone shift - whieh
: — Waords that end in 'er’ that compare two things i.e. spociiic
Use this to Make sure you can pf greater, feext you
transform your confidently identify thesel tiv when ISNENEN non- discuming
responses from [ > sy
Ihli m_u ﬂiﬂﬂlﬂ!ﬁl&. fima,
it tah l the " Penny Review® and the m n)ieng article finish whhfthl:
. il 1e quotation: "as minera being reseued, &5 a sense of drama as t the
The quotation: "“5 shrong as o bull" 1s B texts build u fofrand anticipation for their rescue.  In
strong as a bull the the day of the rescue is also mentioned at the
shows... simile, which shows... beginning: the "scenes of jubilation erupted” as the miners were
rescued, This dramatic verb *erupted’ portrays the excitement and




Threshold Concept- Year 10- Writing:

1C5 - Communicate clearly, effectively, and imaginatively, selecting and adapting tone,
style and register for different forms, purposes and audiences.

TCé4 - Organise information and ideas, using structural and grammatical features to support
coherence and cohesion of texis

TC7 - Use arange of sentence structures for clarity, purpose and effect, with accurate
punctuation and spelling.

Voca : To be a

Commen woid Better ward successful e Lirgme
Hig Vaos| '

S i writer, you

Elaled ;

-iope i need to juggle

cary Blood-curding all of these

Searad Pelritying =1 . ;

Loud Thuncierous different skills.
| Guial k| Soundless ol
Said Declarad

Red Vermilicn

-Do | know, use and spell correctly

plenty of better words for common ‘

words?

-Do | push myself o use more

ambitious words in all my work- not
just English?

Structure:

Punctuation:
Puratiahon! For fiction texts- SCIT:

40 min successful plot structure- SCIT.
Section 1: Describe the setting.

Section 2: Deseribe the main character.

Section 3: Deseribe ONE incldent.

Section 4: Describe how the
setting/character has now transformed.

WHY you  |Inform, persuade,
are writing  |advise, review,
your nen- entertain.

fiction text.
WHO you | Wide audience,

are writing | council, parents,
to/for. tourists, teenagers,
WHAT yeu | Letter, magazine
are writing |article, newspoaper
and HOW it |article

ig uniquely | advertisement,

laid out, p

of punctuation? Ask yourself these questions:

sistently use all these - Does my writing achieve

ces of punctuation in my what | want it to?

writing? - Do | adapt my writing [i.e.
word/language choices)
based on the task | am set?



English
Literature



Threshold Concept- Year 10- A Christmas

Carol:

TC1 - Understanding texts

1C2 - Demonstrate an appreciation of the writer's craft through analysis and critically

avdluative comments,

TC3 - Understanding the relationships between texts and the contexts in which they were

written,

Borooge makes
Gratchit work
In tha cold

Vigit trem Ghost of
Christmas Fasl

Visit from Ghost of
Chrisimas Prosent

Stroppe mends
his ways

1
Vial{ frem Ghoat of
ChFistmas Yet to Gome

Scrooge is
redeamed

You should use this information to get the base
knowledge needed for Chares Dickens' story. ¥

e

F\‘T'«ﬁxc

facak Marley's )‘-huﬂt
Serooge's dend bisliis piitiies
Wl Bis tirrible warming

e

ol tomi lidee?

A tiwan, miswvable, b

wnilser. Can liv lean

alrait Chikstinas

Beh Cratehit

Scivoges poot offie dlork sl @
ey Fatlier, i bt eaim ennngh
ey o sive Jils soirs if?

Tiny Tim
Tarbes genntle, fiail son
Will lig live wr will lie dic?

a4

\1‘ Jj“\ Ghort of Chriitmad Parl
J ! Why e this ghiost sk Sirongr
i \} swenp il baotli oy aid softew?
[ \‘\
’L.E!- 3“ el
’ Qh Gheil of

Chitirtmng Predenl
A chew il spivit, Will Seroog
Tiewdd hiks svarnings?

Ghail «f
Chririmai Yel Lo Came
A frightening sileiil ghiost

Can Scrooge ciange e divadin]
= Dufivre the s i i1 sl s Bilisi?

5

Using this information can you:

« Recount what happens from start to finish in the novella?
¢ Explain who the primary characters are, and what makes them

unique?

E.g. The Ghost of Christmas Yet To Come shows Scrooge a
horrible future where he dies- he is a silent, petrifying ghost.

How to analyse the writer's craft- break the quotation up into smaller chunks. Example on Scrooge.

Golden-
adjective =

MNoun: Sunlight brings life, light and warmth. Serooge brings life as he
gives money to Bob te ensure Tiny Tim continues to live. He brings light as
he is a much more jolly and friendly person. He brings warmth as he is a

suggests value,

Scraoge Is a

rara and
valuable human
belng- a nice
rich man, He is
valued by the
people around
them, nowl

far warmer, more compassionate man.

Adjective- Scrooge sees Heaven above
x:f:g;;:':h‘ him in the sky. London is now a place he
sunlight and thds happy in- it is a heaven to him, It
world around  also suggests his new religious side
him = he Is  where he follows God's teachings to
appraciative,  treat others well.

) O

Adjective- links to the idea of
rebirth. Scrooge is starting
afresh- he is reincarnated as a
completely new Scrooge. The
whole world is fresh to him and he
is fresh to the world and the
people around him, too.

In order to be successful, you

must know a range of different
moments from the whole story,
For example, other moments

where Scrooge is important
include:

s Scrooge's infroduction as a

miserable boss, "Bahl Humbug!"
= Scrooge as a child, “Poor
boy!"

= Scrooge’'s reactian lo the
ghosts, "I will honour Christmas in
my heart."

II

Prince Alberl and Queean Viclora
daecorafing a Chiistmas Iree 1848,
Where the fradillon slarted.

Saint Nicholas- patron saint
of children, knawn for his
genarosity and kindness.

INSPIRED

)

The Ghaost of Christmas Present, who
resemblas Saint Nicholas and Is surroundad
by new Victorian Christras fradition.

Look aul for
ather parts of
the: novella
cledily Insplred
by the oulside
world, i.e,
poverly,
freatment of
chlidran,
workhouseas,




Threshold Concept- Year 10- Poetry:

TC1 - Understanding texts
1C2 - Demonstrate an appreciation of the writer's craft through analysis and critically
evaluative comments,
TC3 - Show understanding of the relationships between texts, and the contexts in which they

were written.

1 sentence summarles of each poem: Full annotations (if on MS Teams) = Annotated 15 poems.

1 sentence summary

he Manhunt The one where a wife writes about her scarred seldier-husband,
-ﬂonm 43 The ene about listing ways you love someone.
London The one about hating a city and what it represents.
12 Soldier The one about the glory of dying for England.
[ She Wnllu in Baauty The one about the beauty of a mourning woman.
Living Space The one about the cramped Indian slums,

The one about fear of time passing away and death.

A

. pcl'glg > The one abeut the specfalness of a normal "boring” relationship.
Valentine The one about how love is like an enion
A Wife in London The one about the wife whe finds out her husband has died in South Africa,
h!‘qm':gf a ﬂgﬂn The one about where frogs teach a child about reproduction.
Hawk Ebﬂl‘ﬂr.g_ The one about where a bird is compared to humanity.
LTQ Autumn The one where a season (s compared to a weman/ goddess,
‘Aftarnaons The one where about the restrictions of motherhood.
[ Bulee Ef Decorum Est | The one about a WWI gas attack.
| Gzymandias The one about the broken statue of someone who was pawer-ful.
Mametz Wood The one about soldiers’ remains in farming fields,
| The Preiuda The one about the magic of cold winter days.

oy
Eh: afugas

WJEC EDUQAS
GCSE POETRY
ANTHOLOGY

You should use this info
to get the base knowledge
needed for each noem.

Using this infermation can you:
s Recount the main idea from
each poem?

= Begin to recount
quotations/words/the
background in the poems?

E.g. London Is a poem abeut how
horrible the capital of England is to
the poet.

How fo analyse the poet’s cralt- use FLIRT to cover a range of
different fealures in your responses.

Fpm\, Sonnet? Ballad? Free verse? Ode? Narrative poem?

Dzymandins example.

power,

“Bennet = love poem = Ozymandias loved his :

.Lﬂ-ﬂvg u ﬂrgﬂ

Word cholces? Adjeclives/adverbs? Verbs?

Lexical fields? Connotations?

"desert" "boundless” "bare" lexical field of

loneliness reflects how forgotten
Ozymandias is now,

Tonsira

Similes? Metaphors? PersonificationtHyperbole?

Senses? Alliferation? Onomalopoeia®

ﬁﬁymﬁ structure

“sneer of cold command” strong sounding
alliteration suggest violence of Ozymandias

to his slaves

Rhyme scheme? Enjambment?
Caesura?

] 71 Joyful? Depressed? Angry? Ironic Noslalgic® shiffing?

“Stand of the desert. Near them..." Cassura
= [solation of the statue.

Linking the content of the poem to the writer's life/ the history behind itl  Thislinks fo the context of the poem, because...

"Ozymandias- King of kings” irenic fone-
ngmglpg_i_gg power has faded completely.

1814- Propaganda posters/
poetry persuades men to
o to WW1.L

Each of the poams
have stories behind
them thal inspired he
willars- make sura you

1015- 1918- Wilfred Owen
experiences the horrors of war
{including gas attacks).

1915- Wilfred Dwen enlists
In the army.

1917- 1918- Wilfred Owen writes a
response to the propaganda that
persuaded men to go to war,

know them and
menlion them to
showcase your
knowledgel




hreshold Concept- Year 10- A
TC1 - Understanding texts
TC2 - Demonstrate an appreciation of the writer's craft through analysis and critically
evalualive comments.

A plot and character summary of ‘Romeo and Juliet:’ Full text (if on MS Teams) = Romeo and Juliet Audiobook

Mentagues and Remes falls (n s 7 ' ‘ g Using this
e dontagiss e oty | Ve
= et | can you:
, i i) s Recount
el ket il e I i what
happens
o _Jwin from start
Romeo kills A !u 5] Hr"l'Sh in
Tybalt in revengs g [ [l the ﬁ|ﬂy3
[ fy "i
Tl im0 ﬂw' L] i Fiiilin IIL Tl bR OF CAPATT
LAY PETi e VEInE TF 1870 W) e LB Gl
| | s Explain
who the
| I primary
| I characters
| I . are, and
gl e ' i v R | WO
them
. e unique?
v Romes and Jullet My
Kill thamselvas M‘”“.Iu""i:""’ Rinimhy & b PRAT,
W Capulets end the feud egscn 8
VT GaRAlT
You should use this information to gei. the base E.g. Juliet is insiructed to marry Paris by Capulet and|::
knowledge needed for Shakespeare's play. Lady Capulet, but fakes her death to avold this.

How to analyse the writer's cralt- mention the writer's name and all of the choices they make. Example on Tybalt

(focus on trying to write explanations like you see in the green box below.) In order to be successful, you must

The character of Tybalt is meg’red wrgpsely by know a range of different moments
Shakespeare to be aggressive and deadly:"turn, from the whole play. For example,
2 alali : AT dal ol Key quote written down other moments where violence is

has Tybalt use an imperative here to command

the Montague characters to do what he says as

he feels superior to them. His use of the Technique identified.
metaphor "death” fo describe his sword, shows « Romeo and Juliet's
that he often uses the object with theintention suicide. “Stabs hersalF"
o ng his opj|:_on¢n s. 1he original audience What it shows stk
may celebrate Tybalt being like this, as it * Mercutio's death
reflects his masculinity and strength in a world "a plague on both
which promoted warrior culture, but a modern |EEEEEESREELE your houses.
audience would more likely see his language as - Rotmas Mk Tvialt
overlr violent and completely unnecessary, as i s o
conflict is looked down upon more so now. They fight; TYBALT falls

important include:

Developing this further- discussing audience reaction.

A really effeclive way o showedasa your undersianding of the tex! is by comparing how an orginal audience might react vs, how
a madermn audience might react (see the blue parl of the WAGOLL abova). This is how we do 1his:

Juliet is ungrateful for refusing to marry a suitable
man they've selected for her. They may dislike

mﬂ,,‘cg her for trying to resist the male-dominated = %
. O Consiger,
“\a\ﬂ"“‘p':“\ﬂ“- society that she (and they) are part of. b bl
8] play, your own
; reactions to
Juliet is right fo do what she does. She should it
MODERN AUBIENCE MIGHT pursue the man she loves and should not bow compare this fo
THINK down to the pressure of her parents. They may gﬁ‘é",;"’:‘c i
celebrate her power, in spite of her youth. 15905 (wilh vary
dilferent views fo
us) would react,




Thre - Y -Anl t ;

TC1 - Understanding texts

TC2 - Demonstrate an apprecialion of the writer's crafl through analysis and critically
evaludtive comments,

A plot and character summary of ‘An Inspector Calls:’ Full text (if on MS Teams) = An Inspector Calls audiobook

w

g 3
Ifkpacior Goale Gihielia feels

investigates responsible
Eva Smilth's death

fof tha death

Arthur Birling Syhil Bleling Inspactor Gaole
Mr Birling had Huad of Birling family,  Birling's snobby wife A police Inspuctor sent to
sacked Eva Smith capltalist businessman Investigate Eva Smith's sulgide

=
g
Mr= Mirling refused "
to help Eva
LiJLE Garald eonfesses
hix atfair with Eva
Efie wii the tathaf
of Eva's unbam baby ' W
[

Lva Smith / Daisy
Ronton
A young working-class
woman with connections

1o the Birlings

Gurald Craft Shella lilrlilu el
Shalla’s flancd, and sonol  Biding's davghter and Erle Blrting
Bieling's buslngss rival dorald's flancde The youngest Blrling

Using this information can you:
Inspnetsr Gaol : = Recount what happens from start to finish in the play?
I% an imposter : The police call the

Blrlings 18 nvestigats s Explain who the primary characters are, and what makes them
W unique?

You should use this Information to get the hﬂy E.g. Mr Birling is an Iignorant Capitalist who sacked Eva Smith for
knowledge needed for J.B. Priestley's play. demanding equal pay.

How to analyse the writer's craft- mention the writer's name and all of the choices they make. Example on Sheila

(focus on trying to write explanations like you see in green here.) In order to be successful, you must

Tha c:hur‘ucfer of Sheila Blr'h is used to reflect know a range of different moments
oun eneratio ve, n c ance 1o E : from the whole play. For example,
l?licr'ﬂmyt ﬁ'\ ,9 rtgzr's‘ The quotat lcml Th se Key W;” written other moments where Shella is
Is aren't chea re people” shows own ; ; ;
% eil u new und rs; crer EET wom 2] RGN NclRe;
r e fre mare

egardless of class
u%r en. J.B. Priestley hn er‘ criticise | Technique identified. | | o oy introduction as

ngnrgu ﬁe at }eéfmgﬂ EEECIQT Emﬁlsgs o nwer Sheltered and childish “murnmy"'
writ r' Tu 5 ow T at she ?s Tilﬂ re Yvor‘l‘eh What it shows “eladdy"

more than how sﬁc sees T e original
audience may dislike a woman chudlenglng % rg\ ? 7
ﬂ this i 5 it is not the norm at a Audience reaction(s): speech and interruptions *{cutting in)

4 il.!:g wou sdsEi CSEISE gg*rﬁnrgysg msor‘esml?o er‘n « Shella's change and refusal fo accept
ce a a et e
?emlmsf figure, similar to the suffragettes. , ﬁ?'sfd s engagement fing. “No...| must

n

« Shella's new-found power in her

Developing this further- discussing audience reaction.

A raally effactive way to showease your undarstanding of the text Is by comparing how an orginal audlence might raact vs. how
¢ maderm audiance might react (seea the blue parl of the WAGOLL above), This I8 how we do this:

Edna is lucky to werk for the Birlings. She has o
stable job and an opportunity to live in a
beautiful house, (Original theatre-goers more
likely to have maids and be Capitalists.)

Try o consider,
as you raad the
play, your own
raaclions 1o

]\ Edna s unlucky fe work for the Birlings. She would || Sioeeien!
MODERN AUDIENCE MIGHT >ecrn very little indead and has to wait on a compare Ihis lo
THINK whole family at all hours of the day. (Modern gm;’;m %
l/ audiences more sympathetic fo working-cleass) 1946 (wilh very
dilferant views to

us) would react,




Maths



Year 11 - Reasoning..

What do | need to be:| Keywords

I I
I I I
[ able to dO? I| Scale factor: the multiplier of enlargement I
| By the end of this unit you || Proportion: a comparison between two numbers |
u : irect proportion: as one variable is multiplied by a scale factor the other variable is
| should be able to || pi i iable is multiplied b le f he oth iableis |
|+ Understand and use scale | multiplied by the same scale factor. I
I factors II Inverse proportion: as one variable is multiplied by a scale factor the other is divided |
|« Understand direct and | by the same scale factor. I
I inverse proportion |I Pressure = Force +Area I
: * Calculate with pressure and |I Density= Mass + Volume |
I density |I Ratio: a ratio shows the relative size of two variables :
* Complete ratio problems I
L - e e e e |
e et i e e e = e R i e e =
| Dlrest Proportm IIBZLIII? hanges e piter thanges | |, Conversion Graphs Corvae tvo vanes (R I
JII.
- - by T - - |
o 44— The s dwogs astraght ne becase g one vanabk
: This & a molipicatve. chonge : | :‘é 80| - # rereases 5o does the other at the same rale I
I ) : 4L | I = L 50 : . I
| 4 cars of pop = £240 w . 12 cars of pop = £720 I I T s To moke conversions belween unfs you need o find the
I SC F : £120 Dg I| / porit {o compare — then find the. associated pont by I
N eors of pop = £12 ' ;

I ~ Sometimes thes s easest I || Labeling of both aces %usng e ; I
i , y : | < vt g aner helps for acclrocy I
This mutpler s the same ff youwork ot how much || bl S version fres | “check” f
I b the same ey thal The one it & worth first | I ﬁmw SIS e % I
: woukd be for rato 2o loanofpop - £060 | | " :

I
______________________ S oy e Sy UL 8 T2 e o e e S

|
| I:
I
| Exampes of nversel) proportiond T s verseyproportona to G W'rmT-RtImG-.‘IO ¥
| telors s 4 I|
| Time token to fil & pool and the ﬁ e |:
l nm{ﬂftm@ﬂmnﬁ I- I 2 6 II

4 . |

| Time taken to pant a room and the : ) 2 ? I I
| pomber of workers R NI ¥
I x 2 +4 ||
r:—_—_—_—_—_—_—_—_—_:—_—_ _______________________________

1Sharing 6 whok. into a given ratio Q:IFmdmauabeﬁwen In (or n: ) Gh

James and Luey share. £350 n the ratio 34
\Wwork oul how much each person eams

hside @ box are ble and red pens n the ratio 5 | ||
If there are 10 red pers how mary be pers are. | 1]

I
| [
I [
| Model the Question James | there? I
T I :
3.4 mEESCN U GEpE !
| ' —— 5| b |:
| Liey Il _,_.\ One unit I|
| Fndthe vabe of ore pat £3589 7 - £50 Il []-oept  Redpens -opers | ]
| whde £350 Il - opens I
| 7 parts to share between ] :a&m [ ||
| (3 James, 4 Lucy | | Put back into the question ., :I
IMMﬂQMQMs{m II Ble Ped ol |
| Jares - 3x £50 - £60 Il A CITTT]
I Jam-: Luw II ¥ 10 x0) [ :I
- |
50 -} 5550” 50: 10 Redpers - 1x 10~ 0pers ||
£I50£;100 I
\ 4 £50) » £330 || There are. 50 Bue Pens 1l
|________E(I__II____JI_ ______________ W _| n




Year 11 — Reasoning...

Geometric reasonin

[————————————— | —————————— — = —— — _——

I
What do | need to be || Keywords

I| Angle: the amount of turn between two lines around their common point

I

I I
I I
| M I| Parallel: straight lines always the same distance apart and never touch. They have the |
| By the end of this unit you | same gradient |
| should be able to: I Bearing: the angle in degrees measured clockwise from North. Given as 3 digits I
|« Understand angles facts | Interior angles: angles inside the shape I
: * Calculate exterior/interior |I Exterior angles: angles outside the shape on a straight line. Int +ext = 180 I
I angles of polygons II Polygon: A 2D shape made with straight lines :
| * Proving geometric facts |, Regular: when a shape is regular all sides are the same length and all angles are the |
| ° Problem solving with angles | same I
| ° Circle Theorems (H) I| Irregular: shape with sides of different lengths and angles of different sizes |
L ________liSum:total addalltheanglestogether _ _ _ _ _ _ _ __ __ ___ __ __ |
_______________ = N = N A
Qltemate angles © |1 Corresponding angles | Co-interior angles !

1

B i .
Becase co-ntenor angles
heawe & sum of 180° the

|
I
hoigtedange s 1I0° |
: |
|
|
I
I

I Because comespondng
onales are. equal the

equal the. higrighled anges | Dehlgrted angs e the

me the same size

I
|
|
I
: Becaise dtemale anaks are
I
|
|
I

Tangents to a point ;
are the same length ;

[
[
i
[
i

IV s Vo
[ S e | | Os angles on a e add vp Lo 180° co-nlenor angees can
[ | | dso be caeulated from dpping diemate// correspondng
' [ ]| res first I
_______________ ———— e e e e e e e e e e ——— — ——— e —— — — — ——— —
| Rlemptimekare = st e st oo T e L i ot o v e e U e o e et 7 o e e o e e e |
:SUIVM anake probems Lk ane focts to daebra Form n equation State. the reason Soke :
| Onakes on a straicht Lire The sum of anges on a 2 _ o
. L J x+4x =180° |
| 180° = e : 2x + 4x = 180° stracht ne. &5 180° + I
| — 6x = 180° |
— o
: Verti . / Trianges ledor Onges x=30° |
M—-MI-M_ - /%N Smef < 180° The anges enclosed by the I
: I:GUJ,E _ . ol O WI@IES E !-'CIJ{{fI |
| i 2\ /" \ oscels buve the same forber of sces— Ax 180 | |
e e B s o RPN - - - A S
: :I'Interior and exterior angles |
: | |
/ : The sum of exterior anglesin |
: ;| any polygon is 360° :
i : |
: : : i The size of each exterior angle
The angle in a The angle in the centre is double the Aradius and a tangent | in a resular polveon is & :
. semi-circle is 90° angle at the circumference meet at 90 I o gurar polygon
: ~_ D g 360° <+ number of sides |
' - L I
5 H
! \ :| Interior + exterior angle = 180° :
: /}-c E |
i ~ ; Interior |
 Anglesi Opposite angles i i —T ; Angle o
‘. ngles in the same pposite angles in a cyclic ~ E I Exterior |
| segment are equal quadrilateral add up to 180° |
I
I
I
I
I
I
I
I
I

5 =17 :
The Alternate Segment The perpendicular bisector ;
: Theorem of a chord is a radius :

:
:
o __4

______________________________________________________________________________________



Year 11 — Reasoning...

—_—————— — — — — — — — rrr——~r_-—_—_—_-——_—_—_--—-——-—— —_——————
| | Key !
| Whatdo I needtobe | Keywords |
|, Expression:
I M [ Sequence: items or numbers put in a pre-decided order l
| By the end of this unit you |I Term: a single number or variable |
: should be able to: |, Position: the place something is located :
| ° Simplify expressions |, Linear: the difference between terms increases/decreases by a constant each time
. th i Non-Linear: the difference between terms increases/decreases in different amounts
| Nt term for linear sequences | he diff b /d diff |
| +  Nthterm for quadratic | Quadratic: where the highest power of the variable is squared (x |
d here the high fth b d (x2 |
Difference:
sequences
: «  Solve simultaneous equations |: Co-efficient: number in front of the variable :
: Linear and Non Linear Seqm : : Solve Simultaneous Equations :
[ vences — ncresse by addtion or sublraction and the same. amount each time
| Linear by addt wblraction and the { each t 1! [
vences — do ot nerease by a conslant amount — quadralie, e
| Non-irear { y t L — 4 geomet : ) I
| ard Fiorices |1 Linear @ [2a\+ ¢ = 3445 |
| = Dorol pol g straghl Ines when modeled graphicaly | I _
| = The diferences between terms can be found by addtion, subtraction, mutigication or | | @) \2a/+ 3¢ = 52.35 :
: * : | @-®@ 2¢ = 17.90 |
| Fibonacci Sequence — look out for this type of sequence I I 895 |
I c=o. |
: 0 l l 2 3 5 8 _— ,\ : I |
| ) | : 2. With one quadratic |
Each term s the sum of the previeus two terms / s |
I L . |
R S R S S e RS S S S S NS e e S S = | ¥=a2 ¥ =x42 [
l fi ic ruks e sut T y=x+2 x2—x—2=0 |
| Sequences from alaebraic rules T s sustiion I |
I (x=2)(x+1)=0
| An+7 3“‘2 + 7 I y ' !
I Y. o ] P x=2,x=—1 :
I Thes wil be near - note. the. snge The s nol inear e therega | | 7 y = x? [
er of n The vales ncresse ot o power forn | | AR G
| MR - S y=@? y=(-1 !
| corstant rale | | y=4 y=1 I
Substitute the. number of the term you are looking for | | I
= —p sy 2 )
: Qn 5 n plce of ' I: [szandyzﬂl-] {x=—1and_‘y:1| :
29 |
: Riem-2(0-5--3 || |
| Attem - 205+ | : |
| 100%term - 2(100) -5 - 1 | :
; ; i More details on the next page ©
| Checking for a tenmn in g sequence fom m equion : | pag |
I
-4 = I
e ¥ |
: Song this vl find the posttion of the term in the sequence. | |
I I
L ONLY an nteger solition con be n the m,uema_. \ee - ]

' Pndgthe degbaiee
Tested 4, 8 |2, 16, 20.... TN

times table

4'n * * * This & the comparson

I |
| |
| |
| |
| |
| I
| Ths has the same. constant Ths & the constant (dffecerce) betweenthe | |
| |
| |
| I
| |
| |

71,15 19 AL +— difererce—tuis Smorethon | difference between the temms oA ond ew sequence
Y the. ongndl sequerce n the sequence




Year 11 - Reasoning...

@wihisto_mths Simultaneous Equations

[mm e ——— — — —
| What do | need to be abk to do?

Sobtion: a value. we can put in place of a variable that makes the equation true
Variable: a symbol for a number we. don't know yet
Equation: an equation says that two things are equal — it will have an equak sign =

| |

| |
: By the end of this unit you should be able : :
| |
| |
| Substitute: replace a variable with a numerical value |
| |
| |
| |
| |
| |
| |

1
I

I

I

to: I
*  Determine whether (xy) is a soltion |
»  Solve by substituting a known variable |
» Solve by substituting an expression I
I

I

I

I

|

|

|

|

| LCM: lowest common multiple (the first time the times table of two or more numbers match)
| = Solve graphicaly

I

|

|

|

Eiminate: to remove

Expression: a maths sentence with a minimum of two numbers and at least one math operation (o equas sign)
Coordinate: a set of values that show an exact posttion

Intersection: the point two lInes cross or meet

»  Solve by subtracting/ adding equdtions

»  Solve by adusting equdtions

Form and solve linear simuttaneous
equations

3
1

. x and y represent valves I [ it( i i e Two different variabes,

1 (x, u) a solution? tht can be sivtedvio || Substituting known variables [ Oine has the equation 3x +y = 14 ] o oLt :

: an equation |I Stepharie knows the 3x+y=14 3() +y=14 124v=14 |
| [Does the. coordinate. (1,8) lie on the ne y=3x+57 } | point x = 4 lies on that l [ El q
I X X X ¥ 4 | 4 | 4 | y | —12 —12 I
| |I Ine. Find the value for y - - — ” |
| This coordindte represents I| _ ' =2 |
/ | x=4 y |
| x=land y=8 —f+=) I 211
I I ——————————————————————————————— -
| y=3x+s [ W= === === === === St Ao e rvath by
/ it ibin i eXDresS| Ubstitute 2y in place of the x variabe ds I
| 8=3(1)+5 : I Sustitiling in o expression w represent the same vale I
| 0s the substitution makes the : | | e 2y LU e S I
| equation correct the coordnate | I . * x =2y I
I (18)1S on the Ine y=3x+5 |: X +y =30 x |y x=2y x+y=30 : I
| 30 10] 10| |
? L 1 | 3y =30 =
: [ fs (27) on the same ine: J 1 \ .".J‘*.’ [ 3y 30 M - 33’ +/ il |
| 7#3(2)+5 [| P of smutaneous equations 2 i y=10 x =20 I
L No 7 does NOT equal 6+5 ' L (two representations) _!
“:. ST T T T T = o L e . T T T T T T T T T T T T T T
| Sove. araphically 11 Solve by subtraction |
I N % ] % =18
|[ X+y=6 M Y= X } ) (2, 4)isthe :I “ 3x+2y=18 S |
; pont of | BTy = x+2y=10 R) vy =10 |
| Linear equatiors are straight nes -. tp : [ . I
| The pornt of intersection provides v / rhersecton || AE 2x =8 n @ / / —18 |
| the x and y solution for both ' : [ —— +2 =2 / B I
I equations . l| 5] x=4 / =10 |
' I L !
| ti Il | x+2y =10 X kw =8 |
| The soltion that satisfies both . I (4)+2y=10 y |
I _euatlzm s A _ I x =4 - 2y=6 p =4 |
| ) y=3 |
e e o o o — — — — — — — — — — — — — — — — — — — ——— — — — — — e — e — — o — — — — — — — ——
P ar T T T T T T T T T T T T o L o o T T
: Solve m addtion (ddttion mokes zero pairs :l Solve by adjusting one 12 :| Solve by ad)UStlnﬁ both :
I [ I
I 3x+2y= “ o I I
y=16 Il h+7=12 Noeguvaent vaes 2 = =
+6x—2y =2 ||2h+2]'—29 ‘ ||5x+§y—39 & o
| 1 ] = || x—2y=-7 000 -7
| 9x =18 D@ ” 29 | >8 |
| +9 +9 24 I I Use LOM to make equivalent x OR y values |
| x =2 B & & : : 2h+2j =24 | ’W | | Because of the neggtive vales using zero pairs I
= . i ues s chosen choice
| 3x+2y=16 S =18 oh 42 =129 Honnnll! . |
| R RNnE I
I32) + 2(y) = e I |
y) =16 | — _
| 64 2v =16 |: By proportionally adusting one of 29 |I 4x + 6y =78 |
I Y _6 =2 the equations — now solie the |I 15x — 6y = —21 DE\@ I
| _ simutaneous equations choosing | Now solve = '
2y =10 I I by
| y | =5 I an addtion or subtraction method | addtion




Year 11 - Reasoning...

to do?
By the end of this unit you should be able to:

* Draw and measure angles

| ¥
| |
| | .
| I Protractor: piece of equipment used to measure and draw angles
| N
| |
: * Corstruct scale drawings | :
| N
| N
| N
| N
| |
| |

|

|

|

|

Locus: set of points with a common property I
Equidistant: the same. distance :
« Find oous of dstarce from poits, nes, (o iscorectangle: (i stadum) — a rectangle with semi circles at either end :
|

|

|

|

|

Perpendicular: ines that meet at 90°

Ines
 Construct perpendiculars from points, ines, Ore: part of a curve
anges Bisector: a ne that duides something into two equal parts
* ety congrience Congruent: the same shape. and size
*  ldentify congruent triangles
e I e e e e e — —— —— —— —— —— —— —— — —— — — — —— — —— — —— — — ——— — -
e e e e T | 1

Draw and measure angles |1 Scae drawings O || Locis of a dstarce from a pont

Make a mark at 35° with a pencil | |
Ond joi to the angle. point (use a
ruler) .

|
|
:
|
|
|

Draw a 35°
ange

Qll points are equidstant (the same
distance) from the fixed pont in the

o< midde. ﬂ"

|
I |
I |
I |
I |
I |
| . '
N A |
I |
I |
I |
I |
I |
I |

O picture of a car is drawn with a scale of 130

For every lem on my image is
/ 30cm in real life

L

L

L

3 I

-, II

%— I
/ The ange |: he car image is ﬂ

:I 10cm
L
L

e

)

Tl Equipment needed
| Moke sure the cross is at the end Image. - Real ife f the port & 'E the comer The radus is the dstance
| of the Ine (where you want the o em: 30cm Y\ < it can only make @Umelg from the fixed port
= = cire
| onde) ~ gwcm SOOcmD = —
e ] e e e e o+ _ _ __ __ _ _ -

I ocus of a distance. from a straight ine

Qa EOlnt .Pomt

Line
i /

Se g compass and draw an b
arc that cuts the Ine. Use the =

|

|

|

|

|

|
oo
oint to place the compass / :
|

|

|

|

|

|

| |
| Qll points are |
| f equdstant the |
| 1 same dstance) |
| from Ine |
| |
| |
|

|

|

0ko a perpendicular bisector
Because if the points dre

Joined, this new Ine. intersects
tatad0°

:;_:”’:: Equpment needed
| The ends of the e are Tre Ine. is straight so a ruer
| fixed ponts ﬁ' s used for the straight Ines
" paralel to your original ine

<

Feep the compass the same

- o dstance and now use your |
__________________ a Jo[m the intersections with & new poirts to make new g
: Locus of a distance from two lines I Feep the compass the same g)uer is on thi | lercomecting arcs =
| d v o arcs from (o oy e 0
I [ sotsie s b J I jzshaéﬂt equastont from both pons == Connecting the ares mokes the bisector |
L _eghport  __ __ __
| This cuts the andgle in half |[—===—=—=—=—=—=—=—=—===== = |
: ‘_}— Fr?r?hthf m@(k vertetxhdmw t':o arcsthat | :Conqruent ﬂopreg : [ If P s a point on the Ine the steps are the same } |
cut the Ines forming the dang I ——————————————
| | Il - !
I Peep e corpus the e sze nd e | | Congruert figures are identicdl in I Congruent triangles |
| o the new arcs as centres to draw | I size and shape — they can be 1 |
| V. | intersecting arcs in the midde : | eflections or rotatiors of edch 1 Side-side-side |
I iz o the vertex to the intersection | | other | | Qithree sides on the triangke are the same size |
' I
r'—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_'i | : : Ongle-side-angle :
. . Lirkto Two angees and the side connecting them are equal in
: OOHSthCtIﬂQ Tflomle seps > o I : Congruent shapes are identical — all corresponding sides I two mﬁa@kg ’ ¢ I
Side, Onge, Onge Ty . I and angles are the same size I : [
| i . AU R I [ Sde-ange-side I
: Bl et i I : ace-rmL | I Two sides and the angle in-between them are equal in |
Side, Ongle, Side P i | [ o trianges (i il akso mean the third side s the same. |
P / «
: AR \ Vi : : | : size. on both shapes) I
Brid / |
i lont ange-nypolenuse-siae
| Side, Sice, Side | Right angle t d [
I I I
| | Because al the angles are the same and 0C-KM BC-LM
| tranges 0BG and KLM are congruent | | The triandes both have a right ande, the |
| |1 | | hypotenuse and one side are the same |


https://www.bbc.co.uk/bitesize/guides/zj2tyrd/revision/1

Year 11 - Listing § describing,...

@wnisto_maths

[ _____________ A
| What do | need to be abk to do?

: By the end of this unit you should be able to:
|+ Constrct and interpret frequency tables
and polygon two-way tabkes, Ine, bar, & pie
charts

Find and interpret averages from a list and
alable

Corstruct and interpret time series graphs,
stem and kaf diagrams and scatter
graphs

Collecting, representing and interpreting

Population: the whole group that s being studied
Sampke: a selection taken from the population that will et you find out information about the larger group
Representative: a sample group that dccurately represents the population

Bias: a buit-in error that makes all values wrong by a certain amount
Primary data: data colected from an original source for a purpose
Secondary data: data taken from an external location Not colected drrectly
Outlier: a valve that stands apart from the data set

|
|
|
|
|
: Random sample: a group completely chosen by change. No predctability to who it wil include
|
|
|
|
|

Stbgroups edch have their own heading

L [
F————— e
| Frequency tables and polygons
| Each pont s plotted at them mid
| = :h:[gj Ry point for the group it represents
I 40<x=50 1 g 5 .
| 50 <x =60 3 E g
| |s0<x=<70 5 3 x
| We do not knon from 2 pa— Each point is connected with a
| grouped data where each | ® slraighl e
vale s placed so have to use 04— } + } '
| an estimate for cakulations 40 50 60 Weight (g
: MD POINTS —
Md-ponts are used as estimated Mid-point
| vales for grouped data The The data about weight starts at Start point + End point
| midd of each group 40 So the axis can start at 40 a
T — — — — — — — — — — — — — — — — — — — — —
—_—_——— - T S o o T S o o o o o o T
| Bar and [m cha(ts Compare. the bars green compared to yelow The

|
| I
| Odutt Chid Total |

60 peopke vsited the zoo one Saturday morning
| 26 of them were aduts 13 of the aduks Elephant 3 24 37 |
| favourte animal vias an elephant 24 of the |
I children’s favourite. animal was an elephant Other 13 10 23 I
| Extract information to input to TOM\‘ 6 34 60 - |
| the two-nay table |
Needs subgroup totals Overal total

- - - ___ J
F————e— e e e e e e e e e — — — — — — — P

Draw and interpret Pie Charts @

size of each bar is the frequency

T | cn | reew | There were 60 people asked in this survey
ey | o [ s | b | ———(Totdl frequency)

Mitive method

0s 60 goes into 360 — 6 times

Each frequency can be muttipled by 6 to find
the degrees (proportion of 360)

32 out of 60 peopk had a dog’

N\

This fraction of the 360 degrees ‘ T Peg ‘

: Composte bar charts " Overal total easly comparable

E I 1

Dudl bar charts

|

|} —

: e . Bars are
compared side

| G oA |ggde &

| ategories clearly indeated Easier to compare

| Subgroups

I

I
|
|
| represents dogs
I
I

|
|
| The Mean
|
|

Overal Frequency

The vale in the center (in the

* ! s
./ K
L

Comparing Pie. Charts

You NEED the overall
34y 360- 14z Use a protractor to dran freauercy to moke, oy
60 Ths s 192° comparsons

e e e e o p_ —d

Find the sum of the ddta (add the values')

0 measure of average to find the central tendency. ...
a typical vale that represents the data

55

Dwide the overall total by how many

pieces of data you have

4,84 118 5+5 | Mean- Il
The Mode (The modal value)
This is the number OR the item 24,834,118, Mode - §
that cocurs the most (t does This can stil be easier if it the
not have 1o be numerical)
data is ordered first
Put the data in order 4,88 124

For Grouped Datai

|
I
I Non-grouped data 20
[ Number of Shings 0 \ 2
|
Frequercy 6 8 6
|
'] swtotdl 0 8 2 Total number of
| \ sbings: 20
| The dataina st 00,0000,LL011111222222
I
I Mean total number of sblngs _ |
I Total frequercy
| Grouped data
: x < Md Pont MP x Freq, Overal Freqency: 4
Weight(g) | "2 Overal Total - 565
I 40<x=50 1 o 45
: 50<r<60| 3 5 " Mean: 618
| 60<x<70 5 . 325
I
I

|
|
|
|
|
|
|
|
|
: The Medon
|
|
|
|
|
|
|
|
|

midde) of the data Find the vae inthe midde 4, § 8 |||, 24
NOTE: ff there is no singe middle
2484 118 Medan =8 | vake find the mean of the two
S numbers left

The moddl group — which group has the highest frequercy
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0 — DELVING INTO DATA. ..
Collecting representing and interpreting

| By the end of this unit you should be able to:
|+ Constrct and interpret frequency tables
| and polygon two-way tables, ne, bar, & pie
| charts

le  Find and interpret averages from a lst and
e

. Corstruct and interpret time series graphs,
: stem and kaf diagrams and scatter

| graphs

| Stem and leaf {O way o represent data and use to find averages } || Tlme Series

This stem and leaf diagram shows the age. of people in ai ne at the
Supermarket

0|7 9 Key: 114 Means 14 years od
114 568 8

S o Stem and af digarams

3lo

Must include: ai key to expldn what it represents
The information in the diagram should be. ordered

Back to back stem and leaf digorams

Girls Rays

7,5,5.5.4 15 | 3,
£4.2. 1,0 Mears 193 cm tal

0.8 7.6,642 1,1,0.0

Ollow comparisons of similar groups
Ollow representations of two sets of data

Back to back stem and leaf diagrams

Draw and interpret a scatter qraph.

el
-W‘ of Car (vears) ‘ 10 2 -
= .4
[Value of Car (€s) s:so 4000 | 3500 | 7500 2 ..
=2—pE
! SN 4
This data may not be @wen In size order g "
*  The data forms information pairs for the scatter graph =

o Not all data has a relationship

“This scatter araph show as
the age of a car increases the

The lnk between the data can vale decreases”

be explined verbaly

| The ine of best it ©

The Line of best fit is used to make estimates
about the nformation in your scatter graph

Q

Arnouint of
sunshine

Things to know:

e Thelne of best fit DOES NOT need to
g0 through the origin (The. point the
0xes cross)

There should be. approximately the
same number of points above and
below the Ine. (It may not go through

Heipht of plant

&5 only an estimate
because the Ine is

designed to be an average

representation of the data

any points)
Z:pky?e extends across the whoke 1 is dlvcus o straight Ine

I
I I
: Population: the whole group that is being studied :
| Sample: g selection taken from the population that will ket you find out informattion about the larger group I
| Representative: a sample group that accurdtely represerts the population |
| Random sample: a group completely chosen by change. No predictabilty to who it wil include. |
| Bigs: g buit-in exrvor that makes al vaives wrong by a certain amount |
: Primary data: data colected from an original source for a purpose :
| Secondary data: data taken from an external location Not colected directly |
| Outler: a valve that stands apart from the data set |
I I

|1 This time-series graph shows the total number of car saies in £1000 over time

|
I
I
70 A Look for general trends in the data Some data shows I
I 4
60— i a clar ncrease or a clear decrease over time. |
1 ;
50 2 St |
[l s’ ¥
| 5% il |
: | & 30 g |
| 20— Readings in-between points are estimates (on the |
I | 10 dotted lines) You can use them to make assumptions I
: I 0 T Ib T T T 1 |
Jan Fel Mar Apr May Jun
|L__________________________J
___________________________ |
| : Comparing distributions |
I
I | Comparisons should include ai statement of average and central tendency, as wel as :
I | a statement about spread and consistency |
(!
I | Mean, mode, median — alows for a comparison about more or less averdge :
| | Range — allows for a comparison about relability and consistercy of data |
-
|[r—————= T T T T T T T T T TT T
] | | Linear Correlation @
®
1 I I - x x 2
4 x L 3 x g X
1 I : 8 L * g f x X v LI
.. - X X
4 = g8 X X L] X
] fEEEL : | 3] DG e
x k e
I I Number of apples Nurtder of cups of collee '| ength of thumbd rad
d | | Posttive Correlation Neggtive Correlgtion No Correlation
N ST B L
Ageof i ""”‘"] I | Os one variable Os one varibe There is no
\ I Increases so increases the relationship
| I does the other other variable between the two
The. axis should it al the valves
on and be equaly spread out | I variable decreoses voriables
|

Extrapolation is where we use our

Ine of best fit to predct information

100 outside of our data
g *This 15 ot always vseful — in this
Interpolation s using the e of best £ o example you cannot score more
fit to estimate vales inside our data E 50 % that 1007 So revssing for longer
point - S can not be estimated**
it
eg 40 hours revising predcts a 3 %
percentage of 45 & b @
2 This point is an “outler”
20 40 B0 B0 i qn outier because it doesn' fit
i Spent RS NS thys model and stands apart from
the data


https://www.google.com/url?sa=i&url=https%3A%2F%2Fwww.ck12.org%2Fstatistics%2Ftwo-sided-stem-and-leaf-plots%2Flesson%2FTwo-Sided-Stem-and-Leaf-Plots-BSC-PST%2F&psig=AOvVaw25U9AugB2SP7G2U16MLpCy&ust=1594386355169000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCJDy5paewOoCFQAAAAAdAAAAABAD

Year 11 - Listing § describing

@whlsto _maths ProbabLLL‘cg

| What do | need to be abk to do?

| By the end of this unit you should be able to:
* Odd Sbtract and muttiply fractions

Event: one or more outcomes from an experimertt
QOutcome: the result of an experiment
Intersection: elemerts (parts) that are. common to both sets

I I
| |
I I
I I
I I
*  Find probabilties using lkely outcomes | |
: Union: the. combination of elements in two sets :
I I
I I
I I
I I
I I

* ke probabity that sums to |
*  Estimate probabilties

I

I

I

I Expected Vabse: the value/ outcome that a predction would suggest you will get
: * Use Venn diagrams and frequency trees

I

I

I

Universal Set: the set that has al the elements
Systematic: ordering values or outcomes with a strategy and sequence
Product: the. answer when two or more values are muttipled together

*  Use sample space diagrams
Calculate. probabity for independent events
(ke tree diagrams

—_——— e e e e —— ]

N - |
o P EEE EEE EE EEE EE EE — ————— T, = 'I
| Odd, Subtract and muttiply fractions o 1 leeliness of a probahlftu |
| (ddtion and Subtraction Muttiveation | I | | I |
| 4 2 3 2 I I Impossible Even chance Certain |
I - - 4—)( 5 || Oor 07 05,5 or 507 lor 1007 I
| m 3,2 A ' : h e, further up th g :
The more lkely an event the further up the probabity it wil be in comparison to
| ——X-— = — I | another event (t will have. a probabitty closer to |
473 12 I |
| 12 10 w e e e e e e
TS Modeled: ]
: 15 15 Totdl rumber of Il M ‘ Probabilty is aways a valve between 0 and | ‘ o :
| Use equivalent fractions to 3 parts in the dagram The probabilty of getting a blue ball s % |
| find a common mutiple for ~The probabilty of NOT getting a ble bal s = |
R 5
| both denominators L ) |
4
| The sum of the probabilties & | |
—————————————————————— -, T T T e e e e e e e — — — — — — — — — —————
| Experimental data | Tables, Vern diagrams, Frequercy trees |
L .
I Theoretea |\ i v expect 1o happen The more trais that are I| Frequency trees @ e |3 m‘@mﬁggﬁm‘; |
| probabilty completed the closer | 60 peopk vsited the 200 one Saturdiiy morir Yol & A0 Othe, sane vfomaton |
I expeﬂmeﬁ’[m p(obabmtg I 26 of them were adults 13 of the adul’s 13 I
|| Expermental What actualy happers when we and theoretical Il favourte anmal was an elphant 24 of the 60
| | probabity try it out abit bec |V chidrens fauourte anmal was an elephant it The total cobmns on two- |
| repm e I} Two-way tabke %% o : pﬁgﬁﬁb@mﬁg I
The probabilty becomes more accurate with more triak. I | 34 Otber |
L Theoretical probubilty is proportional | : Okt | Chid | Totd 0 Ploat) - 22 |
Eephant | 13 24 37
: Samgle SPACE The possble outcomes from roling a dee I I PIChid vith mou”tem I
; L ) | | Other 13 10 23 animal as elphant) = > |
: £s 112 (3| 4]5]68 Plwen = 3 : : Toldl 46 = 60 :
= nomber and - T
: SE LW a6 |30 46| o | o w1201 : Vern digeram I
e |l v far]ar|ar|oar]er ' o1 = [~ = |
' D @@ (@ @
e e e e e e e e e e . o . —— —— — — — — — — — — \ L g
— e — — — — — — — — — — — — — —— —_—— — : el e L A |
Iﬂdepe,ﬂd(’,ﬂt (’,Vé’,ﬂts : | inset A OND set B inset A ORset B inset A NOT in set A :
The outcome of two events happening The P (Aand B) | | P@ANB) P(AUB) P (4) P (A" |
outcome of the first event has no bearing on the |_ ________________________
outcome of the other =P@xP(®B T T —— ¥
Tree diagram for independent event

Dependent events The outcome of the first event has an impact on the

| Tree diggram for dependent second event

I} event
Because they are WWA e second pek s the e probly | 0 sock drawer has D black (md 4 white socks, Jamie picks 2 socks from the drawer

sobel has a bag with 3 ble counters and 2 yelow She picks a counter and replces it before the second pick

\

I

I

I

I

NOTE: s “socks” are removed I
from the drawer the number I
I

I

I

I

I

of tems n that drawer s also
reduced - the
denominator s ako

=P (YB) %i= =, 5 5 _
55 25 2 P (WB) 23_-20 reduced for the second
5 () o5 2 )= ”a ook
_ zz_2 | 3 4 3
(Yeow ] =P(YY) "5 2 II_Owh\te Sock has been removed g /rﬂ P(WW) x5=%

3ot of 53@(@ bhe =P (BB) %XS = 295 I | Pick first sock 4 ’ P (BB) 5 ; 20 7
3 (Ble ) < = II E j
22 s : 5 420
P(BY) 572 I ’ 8 ﬁ PBW) 56=%

Yelbw 9" 8 72

“A
e o
<,
!
|o
Sum of probabities

Sum of probabilties
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Year 11 - PSHE Studies Knowledge Organiser - Health and Wellbeing and Living in the Wider World

PSHE covers a variety of topics that focus
on developing understanding in four key
areas: personal, social, health and economic.

NPS
New Psychoactive Substances are drugs that are
designed to replicate the effects of other illegal
substances. They used to be called 'legal highs'
before the law was changed. Examples include
Spice and Black Mamba

Key Skills

Active listening and
communication

Teamwork

Negotiation and self advocacy
Leadership

Presentation and debate

Nitrous Oxide
Also called 'Laughing Gas', street name Whippefts.
Taking it has effects like: an altered state of reality
and a sense of euphoria. Vomiting, High blood
pressure, Nausea, numbness of the muscles

Key Terms

New Drugs that are designed to

Psychoactive | replicate the effects of

Substances | other illegal substances

(NPS)

Nitrous An anaesthetic without

Oxide complete unconsciousness -
commonly called ‘Laughing
Gas'

Festival An organised event, usually
involving music. Typically
happens over a number of
days

Trafficking | To deal or trade in
something that is illegal

Addiction Compulsive drug seeking and
use despite adverse
consequences

Stress An automatic response to
dealing with challenges

Drug Addiction
Addiction is compulsive drug seeking and use despite adverse
consequences. I

and alcohol for many different
reasons - peer pressure,
loneliness, experimentation,
coping mechanism.

Stress

Stress is an automatic
response to dealing with
challenges. Year 11 can be a
very stressful time because of
exams and other pressures.

Stress can make it hard to
sleep, make you irritable and
effect your appetite.

But there are things to help,
including: yoga, mindfulness,
exercise, reading and taking
rest breaks.




Physics



e e = = - .y __ I
] | rK_e_ig\/_vgr'_d_s __________________ i
: Threshold Concep’ : : ewtons Laws - Three guiding

| Cars have safety features to reduce : | principles stating the movement

| impact forces |1 and reactions of all things due to

o 11 physics

Impact forces - The forces
occurring when two objects
collide

Momentum - A measure of how
difficult it is to stop a movmq

| Safety Features in Cars

Safety Glass
|

Passanger safoty coll

Side-mpact bar
Front crumple tone

Antilock braking system(ARS)

I
I
I
I
r————————————————— — — — . |
| Newtons First Law : e MDD |
| Newton's First Law of Motion A o L_ 1 : % Q ] “ . PSRBT S :
| & T g |
A pEE | e
I . oo ~ o5 o gy I
iy L. e
I An obJec? at rest Unless acted on by 'l . I : ‘ .AE it —_ v 130 g I
| will remain at rest... an unbalanced force. Al’h °;J::; ': "‘I‘g" | . « T3 ety |
| Eonsf;:m sI;n:i an- | | ® o ’ 1 :j"fv';:f'u.:.,_ |
- |1 e S |
.. Unless acted on by I 71 wewey TV abrs or 24 car heng? I
I an unbalanced force. I I I
: : | IT TAKES NEARLY TWICE AS FAR TO STOP |
—————————————————————— | at70mph AS IT DOES TO STOP at 50mph |
r-r-——m———— - ———————— I —
| Newtons Second Law [re =TT T T T T
: : : Momentum
I 0[((!1"!':1::‘;:: ;y‘:)!':ﬂ:’mlv 8 . I I
' T S o~ W
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| I
I I
I I the MASS of the wagon 9.0 . | I a n
: b iy m@/ : : I
- I
______________________ 1 I Fig 1. The Conservation of Momentum Applies

| te & Clesed System Mot an Open Syutem.

Newtons Third Law

' H T T T T -
Newton's Third Law :rEqua’rions for this topic
|

:Momen‘rum = Mass x Velocity

Forces always Come in Pairs:
You Push on a Wall

I

I

|

|

|

| )
F, Q F, | |Force = Mass x Acceleration

I

|

|

|

|
the Wall Pushes Back |

|
|
|
|
!
!
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|
!
!
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Year 11 - RSE - Sexual and Intimate Relationships

Key Terms

Sexual activity engaged in
while under the influence of
stimulant drugs such as
methamphetamine, GHB or
mephedrone

Chemsex

RSE covers a variety of topics and focuses
on developing understanding of different
aspects of relationships. This includes
with yourself, friendships, romantic and
sexual relationships

GHB/GBL Developed in the 1960s as

an anaesthetic

Fertility The capability of becoming

pregnant

Contraception

Condom - Made of latex, put on to an erect penis before
penetration

Abstinence - Restraining yourself from having any form
of sexual contact

Contraceptive Pill - Contains hormones and is taken daily
(often at the same time every day) by women. Stops the
lining of the Womb thickening

Implant - A small fube inserted under the skin (usually
in the arm). It releases hormones which prevent
pregnancy
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Key Skills

« Active listening and
communication

¢  Teamwork

* Presentation and debate

Fertility and What Impacts It

Biologically Female

Fertility is mostly determined by genetics, which influences
how many eggs you are born with.

Doctors believe that the number of eggs at birth determines
the length of time a person will remain fertile.

Weight and age can affect fertility levels..

Biologically Male

Quality of sperm can decrease with age. Diet can have an
effect too. Older men can have fertility issues due to dipping
testosterone levels.

IVF and other fertility treatments can help people conceive if
they are having difficulties.

What is Healthy Sex?

Much of the time when sex is talked about in sex
education lessons, it all seems to be about what
people shouldn't do.

However, many people would say that sex should
be a pleasurable experience and that sex is best
with someone who cares about you. This is
because if you know the person cares about you,
you will feel safe. When you feel safe you can
relax and when you relax you can enjoy the
experience.

Consent is always required!
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|rThr-eshoId Concept
: The Solar System is made up of many types of objects.

| Keywords

| Solar System - the collection of eight planets and their moons in orbit round the Sun,
| fogether with smaller bodies in the form of asteroids, meteoroids, and comets.
| Orbit - the curved path of a celestial object or spacecraft round a star, planet, or moon
| Sun - the star around which the 8 planets of the Solar System orbits.
| Planet - a celestial body moving in an elliptical orbit round a star.
Moon - a celestial body moving in orbit around a planet. They are natural satellifes.
Satellite -an object, either natural (e.g. The Moon), or artificial, that orbits a moon,
| planet or star. Artificial satellites are for information gathering.

, : , I
Link to information on the |
whole topic, consisting of |
slides, videos, and quizzes |

Orbital Motion & Satellites I

Pl bit i The Moon is a Natural I
_anel’rs or I;T n n;\aar— Satellite. All other satellites |
circular orbits: they of Earth are artificial, such |

I
I
I
|-
| maintain a constant as weather, military, ISS,
| speed but are always GPS etc.

I

I

I

changing direction.

This means they have @ )10, the same point above

constant speed but . Earth, so have an orbital
NOT a constant velocity period of 24 hours.

:Life Cycle of Stars |

I
I
Geostationary satellites |
I
I

Crt” :‘R;g hiftand BigBang |

Protostar

| |
|

| |
: : |
Stars about -— Sy much I I y I

I e same size !-93:1}!94' I I !
I 35 the Sur Man sequence star ™ Sun | |
> |
| Red gont | I Red super gant | | :
: ‘/:Mr‘:'-.." l ‘_;lzw;n‘la : : g < \ . I
| | tam {3 |
I v Slack owart Neuvon star | Black hole v I I - [- I
| | | - |
______________ T D |
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| Threshold Concept || Keywords

I How do we identify a substance? I| Pure - a substance made from just one
I::::::::::::::::II element of compound

| Impure - a substance made from more

I

I

I

| Testing for metal ions than one element or compound :
I

I

I

I

|Metal ions will form coloured preci pi tates Analyse - to find the chemical composition

N
N
N

|when they react with sodium hydroxide. || of a substance
I Sample - a portion of a substance taken
N

from a larger amount

Metal Cation Effect of adding NaOH

Aluminium (AL) White precipitate, dissolves in excess
NaOH to form a colourless solution

=
Identifying ions required practical

Magnesium (Mg?*) White precipitate, incoluble so Testing for positive

inexcess

Metal lon | Flame Colour

Uthium, L Crimson

I 1 I ions (flame tests /
remdins in excess NaOH I I meu‘lﬂc‘“'z’l‘ faats kel
'with sodium o wheien
Calcium (Ca™) White precipitate, insoluble so I I hydroxide)
remains in excess NaOH I
| | (=] : , =
[ P [So—— :
Copper () (Cu?*) Light blue precipitate, insoluble I I R = ‘bI -7 e B
in excess I I o ‘I', ae
2+ I o = 2 I
Iron (11} (Fe*") Green precipitate, insoluble in excess I I o . LRI = —p P e
e e
Iron (111} (Fe**) Red—brown precipitate, insoluble I I [t 4 L_ e Ly o

| Testing for carbonate ions COs* ||

| K,CO,+2HCI © 2KCI+CO,+H,0 I

: 2 Metal carbonate and | :

hydrochloric acid |

| Forms Carbon dioxide E]I | m m

| Turns lime water  BIEZgEE = =

| cloudy 8 | it o [ T e e R I P

::::::::::::::_“ I | I I I s
Testing for Sulphate ions (SO*), == = ° 1 ==
-~ 4 L wwn ——— by

1 oy pecptus ey
Ba2*+ 50,2>Bas0, | o

Add barium chloride B
White precipitate B
formed

N
|
o

I
I
g 0 @ |
I

I

I

I

| = st AgH+Cl>AgCl
I MNTE C2E AV TELLCw
I
I
I
I

PERECHITATE PRECIITATE FRECPTATE

Add nitric acid

Add a few drops of silver nitrate
Chloride forms a white precipitate
Bromide forms a cream precipitate
Todide forms a yellow precipitate

An instrumental technique
| used to i denti fy metal ions .
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